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UNIVERSITY OF NORTH BENGAL 

B.A. Programme 2nd Semester Examination, 2022 

DSC1/2-P2-PHILOSOPHY 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 
All symbols are of usual significance. 

 SECTION-I / িবভাগ-ক / [k.M-d 
1. Answer any four questions from the following:  

fuEufyf[kr esa ls fdUgha pkj iz”uksa ds mÙkj nhft, % 

িনmিলিখত েয-েকান চারিট  pেűর উtর দাওঃ 
rydk dquS pkjoVk iz”ug:dks mÙkj fnuqgksl~% 

3×4 = 12

(a) Distinguish between mood and figure. 3

 voLFkk ,oa vkÑfr esa varj Li’V dhft,A 

 মূিতর্ ও সংsােনর মেধয্ পাথর্কয্ েলখ। 

 voLFkk vfu vkÑfr ek>dks fHkUurk ns[kkmuqgksl~A 
(b) When is an argument invalid? 3

 ^;qfDr* dc voS/k gksrh gS \ 

 কখন একিট যুিk অৈবধ হয় ? 

 ;qfä dfgys voS/k gqUN \ 
(c) What is the difference between sentence and proposition? 3

 okD; ,oa rdZ-okD; esa D;k varj gS \ 

 বাকয্ ও বচেনর মেধয্ পাথর্কয্ িক —  তা িনণর্য় কর। 

 okD; j rdZ-okD;kek ds fHkUurk N \ 
(d) What is a class? 3

 ^oxZ* ls D;k rkRi;Z gS \ 

 েËণী কােক বেল ? 

 *oxZ* HkUukys ds cqf>UN \ 
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(e) What is obversion? 3

 ^izfrorZu* ls D;k rkRi;Z gS \ 

 িববতর্ন কােক বেল ? 

 izfrorZu ds gks \ 
(f) What is syllogism? 3

 ^U;k;okD;* D;k gS \ 

 িনরেপk নয্ায় বা নয্ায় কােক বেল ? 

 U;k;okD; HkUukys ds cqf>UN \ 
  

 SECTION-II / িবভাগ-খ / [k.M-[k 

2. Answer any four questions from the following:  
fuEufyf[kr esa ls fdUgha pkj iz”uksa ds mÙkj nhft, % 
িনmিলিখত েয-েকান চারিট  pেűর উtর দাওঃ 
rydk dquS pkjoVk iz”ug:dks mÙkj fnuqgksl~% 

6×4 = 24

(a) What is Conversion? What are the rules of Conversion?  2+4 = 6
 vkorZu ls D;k rkRi;Z gS \ vkorZu ds fu;e D;k gSa \ 
 আবতর্ন কােক বেল ? আবতর্েনর িনয়মgিল িক িক ? 
 vkorZu ds gks \ vkorZudk fu;eg: ds ds gqu~ \

(b) What do you mean by distribution of terms? What term / terms is / are 
distributed in A, E, I and O proposition? 

6

 ^in dh O;kfIr* ls D;k le>rs gSa \ A, E, I rFkk O rdZ-okD;ksa esa O;kfIr D;k gS \ 
 পেদর বয্াপয্তা বলেত িক েবাঝ ? A, E, I, O বচেনর েকান ্ েকান ্ পদ বয্াপয্ ? 
 in dks O;kfIr HkUukys ds cqf>UN \ A, E, I, O rdZ-okD;kg:ek O;kfIr ds gqUN/gqu~A 

(c) Distinguish between deductive and inductive arguments with examples. 6
 fuxeukRed ;qfDr ,oa vkxeukRed ;qfDr esa lksnkgj.k varj Li’V dhft,A 
 আেরাহ ও অবেরাহ অনুমােনর মেধয্ পাথর্কয্ িনেদর্শ কর। 
 fuxeukRed ;qfDr ,oe vkxeukRed ;qfDrdks fHkUurk mnkgj.klfgr izLrqr xuZqgksl~A 

(d) Use truth-table to determine the validity or invalidity of the following 
arguments: 

3+3 = 6

 lR;rk lkj.kh dk mi;ksx djrs gq, fuEufyf[kr ;qfDr;ksa dh oS/krk ,oa voS/krk dk 
fu/kkZj.k dhft, % 

 সতয্সারণীর সাহােযয্ িনmিলিখত যুিkgিলর �বধতা অথবা অৈবধতা িবচার করঃ 
 lR;rk lkj.khdks mi;ksx}kjk fuEufyf[kr ;qfäg:dksa oS/krk j voS/krk fuj/kkj.k 
xuZqgksl~A 

 (i) )( rqp  

 rpq /~  



UG/CBCS/B.A./Programme/2nd Sem./Philosophy/PHIDSC2/2022 

2076 3  Turn Over 

 (ii) If there is fever, then the body becomes hot, but body is not hot, so there 
is no fever. 

  ;fn cq[kkj gS] rks “kjhj xeZ gksxk] ysfdu “kjhj xeZ ugha gS] blfy, cq[kkj ugha 
gSA 

  যিদ jর হয়, তাহেল শরীর গরম হেব, শরীর গরম নয়, অতএব jর েনই। 
  ;fn Tojks N Hkus “kjhj xje gqUNA rj “kjhj xje NSu] rlZ; Tojks NSuA 

(e) Explain in brief, the fallacy of undistributed Middle and Illicit Major with 
example. 

6

 vO;kIr e/;e in nks’k ,oa vuqfpr og̀r~ in nks’k dk lksnkgj.k laf{kIr o.kZu 
dhft,A 

 সংেkেপ অবয্াপয্ েহtেদাষ ও অৈবধ সাধয্েদােষর মেধয্ উদাহরেণর সাহােযয্ আেলাচনা কর। 
 vO;kIr e/;e in nks’k ,oe vuqfpr o`gr~ in nks’kdks mnkgj.k lfgr o.kZu xuZqgksl~A 

(f) Distinguish between Mediate and Immediate inference.  3+3 = 6
 vUrjkuqeku ,oa e/;kfJr vuqeku esa varj Li’V dhft,A 

 মাধয্ম ও অমাধয্ম অনুমােনর মেধয্ পাথর্কয্ কর। 
 vUrjkuqeku ,oe e/;fJr vuqekudks fHkUurk Li’V ns[kkmuqgksl~A

  

 SECTION-III / িবভাগ-গ / [k.M-x 
3. Answer any two questions from the following:  

fuEufyf[kr iz”uksa esa ls fdUgha nks ds mÙkj nhft, % 
িনmিলিখত েয-েকান dিট  pেűর উtর দাওঃ 
rydk dquS nqbZoVk iz”ug:dks mÙkj fnuqgksl~% 

12×2 = 24

(a) Determine the validity or invalidity of the following arguments with the help of 
Venn diagram: 

4×3 = 12

 Hksu-vkdkj dh lgk;rk ls fuEufyf[kr ;qfDr dh oS/krk ,oa voS/krk dk fu/kkZj.k 
dhft, % 

 েভন িচেtর সাহােযয্ �বধতা অথবা অৈবধতা িবচার করঃ 
 Hksu-vkdkjdks lgk;rk}kjk fuEufyf[kr ;qfäg:dks oS/krk ,oe voS/krkdks fu/kkZj.k 
xuZqgksl~A 

 (i) AAA-1st figure 
  AAA-izFke vkÑfr 
  AAA-pথম সংsান 
  AAA-izFke vkÑfr 
 (ii) IAI-3rd figure  
  IAI-rr̀h; vkÑfr 
  IAI-tতীয় সংsান 
  IAI-rr̀h; vkÑfr 
 (iii) BOCARDO. 
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(b) Explain the traditional square of opposition of propositions with example. 12
 rdZokD;ksa ds ijEijkxr fojks/k-oxZ dks lksnkgj.k O;k[;kf;r dhft,A 
 বচেনর িবেরািধতার (square of opposition) চtেŴাণ উদাহরেণর সাহােযয্ আেলাচনা কর। 
 rdZokD;dks ijEijkxr fojks/k-oxZdks mnkgj.k lfgr O;k[;k xuZqgksl~A

(c) Explain the structure and characteristic of categorical syllogism. What are the 
rules of categorical syllogism? Explain. 

6+6 = 12

 *fujis{k U;k;okD;* dh lajpuk ,oa fo”ks’krk dk o.kZu dhft,A fujis{k U;k;okD; ds 
fu;eksa dk o.kZu dhft,A 

 িনরেপk নয্ােয়র গঠন ও �বিশŶয্ সmেকর্ বয্াখয্া কর। িনরেপk নয্ােয়র িনয়মgিল িক িক বণর্না 
কর। 

 fujis{k U;k;okD;dks lajpuk ,oe fo”ks’krkdks o.kZu xnSZA fujis{k U;k;okD;dks fu;e 
izLrqr xuZqgksl~A 

(d) Use truth-table to determine the following statement forms as tautology, 
self-contradictory and contingent:  

6+6 = 12

 lR;rk lkj.kh dh lgk;rk ls fuEufyf[kr rdZokD;kas ds iqu:fDr] vkRe-O;k?kkuh vkSj 
vkikfrd dk fu/kkZj.k dhft, % 

 
 
সতয্সারণীর সাহােযয্ িনmিলিখত বচনাকারgিল sতঃসতয্ (tautology), sতঃিমথয্া 
(self-contradictory) বা আপিতক (contingent) তা িবচার করঃ 

 lR;rk lkj.khdks lgk;rk fynS fuEufyf[kr rdZokD;g:dks iqu#fä] vkRe-O;k?kkuh 
vkS vkikfrd dks fuj/kkj.k xuZqgksl~A 

 (i) qpqp ])[(  
 (ii) )]~([~ qqpp . 

 ——×—— 
 


